ST. JOHN PARISH	PLANT ENTERPRISES PRODUCTION
SI. JOHN I AKISH	I LANT ENTERINGES I RODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				2,586	cords	
Pulpwood (Total)				2,586		
Saw Timber						
Hardwood				223,088	board feet	
Saw Timber (Total)				223,088		
Total Pulpwood, Chip & Saw,						\$284,671
Saw Timber FOB Mill						
Total Forestry Stumpage						\$120,571
(Total)						
Forestry (Total)						\$284,671
FRUITS						
Citrus						
Navels	*	1.0	110.00	110	bu.	\$2,200
Satsumas	*	2.0	190.00	380	bu.	\$7,600
Other Citrus	*	1.0	160.00	160	bu.	\$2,880
Citrus (Total)		4.0				\$12,680
Peaches (Total)	*	1.0	60.00	60	bu.	\$2,400
Fruits (Total)		5.0				\$15,080
HAY FOR SALE						
Grass (Total)	*	600.0	2.00	1,200	tons	\$72,000
Hay for Sale (Total)		600.0				\$72,000
Home Gardens (Total)	2,900					\$754,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$25,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$10,000
Foliage Plants (Total)	*				acre	\$10,000
Nursery Crops (Total)						\$45,000
PECANS						
Native (Total)	*	2.5	45.00	112	lhs	\$101

PLANT ENTERPRISES PRODUCTION

ST. JOHN PARISH	ST. JOHN PARISH PLANT ENTERPRISES PRODUCTION							
	Number of		Yield per	Total	Units of	Gross Farm		
Crop	Producers	Acres	Acre	Production	Measure	Value		
Pecans (Total)		2.5				\$101		
Soybeans (Total)	*	640.0	48.00	30,720	bu.	\$181,555		
SUGARCANE								
Raw Sugar (Total)	13	8,915.0	5,832.00	51,992,280	lbs.	\$6,379,453		
Molasses (Total)		8,915.0	175.00	1,560,125	gal.	\$327,626		
Sugarcane (Total)		8,915.0				\$6,707,079		
SWEET POTATOES								
Fresh (Total)				735		\$10,841		
Sweet Potatoes (Total)	*	3.0	245.00	735	bu. (50 lbs.)	\$10,841		
VEGETABLES								
Broccoli (Fresh) (Total)	*	2.0	345.00	690	cartons (20	\$13,800		
					lbs.)			
Cabbage								
Fresh	*	4.0	560.00	2,240	sacks (50 lbs.)	\$20,160		
Cabbage (Total)		4.0				\$20,160		
Cucumber								
Fresh	*	2.0	425.00	850	bu. (50 lbs.)	\$15,300		
Cucumber (Total)		2.0				\$15,300		
Eggplant (Total)	*	4.0	370.00	· ·	bu. (33 lbs.)	\$29,600		
Mustard (Fresh) (Total)	*	2.0	700.00	· ·	doz. bunches	\$9,800		
Okra (Fresh) (Total)	*	4.0	455.00	1,820	bu.	\$54,600		
Peppers								
Bell	*	4.0	420.00	1,680	bu. (28 lb.)	\$33,600		
Peppers (Total)		4.0				\$33,600		
Shallots (Total)	*	3.0	1,040.00	3,120	doz. bunches	\$21,840		
Squash (Fresh)								
Yellow Squash	*	4.0	120.00	480	bu. (45 lbs.)	\$9,600		
Squash (Fresh) (Total)		4.0				\$9,600		
Sweet Corn (Fresh) (Total)	*	8.0	740.00	· ·	doz. ears	\$20,720		
Tomatoes (Field) (Total)	*	5.0	1,305.00		lugs (20 lbs.)	\$130,500		
Turnips (Fresh) (Total)	*	2.0	540.00	1,080	doz. bunches	\$7,560		

TOTAL	ALI.	PI.A	NT	ENTE	RPRISES	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
MARINE FISHERIES						
Crabs (Total)	*		49,993	lbs.	\$73,870	
Marine Fisheries (Total)					\$73,870	
Fur Animals (Total)			1,165	pelts	\$11,301	
Alligators (Wild) (Total)			2,595	ft.	\$77,850	
HUNTING LEASES						
All Other Game (Total)	6	6,000 No. Acres		acre	\$42,000	
		Leased				
Hunting Leases (Total)					\$42,000	
Honey (Total)	*	15 No. Hives	683	lbs.	\$403	
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES				\$205,423	
** ** * * * * * * * * * * * * * * * * *		4 (b (b 0005 - D -1				

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

	ANIM	IAL ENTERPRISES PRODU	CTION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			5	head	\$2,665
400-500 lbs.			25	head	\$15,128
Steer Calves (Total)					\$17,793
Heifer Calves					
300-400 lbs.			40	head	\$18,711
400-500 lbs.			25	head	\$13,677
500-600 lbs.			45	head	\$27,883
600-700 lbs.			50	head	\$34,886
Heifer Calves (Total)					\$95,156
Yearling Cattle					
600-700 lbs.			40	head	\$247
700-800 lbs.			60	head	\$401

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	rioduceis	Floduction	Floduction	Measure	value
CATTLE & CALVES					0.640
Yearling Cattle (Total)			2.4		\$648
Cow-Calf Pairs (Total)				pair	\$23,499
Cull Cows (Total)				head	\$33,690
Cull Bulls (Total)			14	head	\$12,993
Cattle & Calves (Total)	*	445 No. Cows			\$183,779
HORSES					
Brood Mares					***
Race Horses	*	7 No. Brood Mares		head	\$16,000
Show Horses	*	6 No. Brood Mares		head	\$8,000
Recreation Horses	*	10 No. Brood Mares	5	head	\$7,500
Brood Mares (Total)					\$31,500
Race Horses (Total)	*			head	\$72,000
Show Horses (Total)	14			head	\$95,000
Recreation Horses (Total)	12		30	head	\$45,000
Horses (Total)					\$243,500
POULTRY					
Edible Eggs (Total)	*	10 No. Hens		doz. eggs sold	
Poultry (Total)					
RABBITS					
Does (Total)	*	10 No. Animals		lbs.	
Rabbits (Total)					
SWINE					
Show Pigs (Total)			6	head	\$1,710
Slaughter Hogs (Total)			1	head	\$131
Swine (Total)	*	3 No. Sows			\$1,841
TOTAL ALL ANIMAL ENTERP	RISES				\$429,120

ST. JOHN PARISH \$9,071,950